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Answer Key ¢ Lesson 4: Exploring with Base-Ten Pieces

Trade for Fewest Pieces (SAB pp. 337-338)
Questions 1-6
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Answer Key ¢ Lesson 4: Exploring with Base-Ten Pieces

Collecting Pennies (SAB pp. 339-340)

Nare Date Questions 1-2

Collecting Pennies

1. Jason solved the following problem. Does his answer make
sense? Why or why not?

97
+ 86
1713

2. A. Liz collected 37 pennies and Romesh collected 56 pennies.
How many do they have altogether? Use base-ten
shorthand or a drawing to show how you solved the
problem. Write a number sentence.

Number sentence
B. Is your answer reasonable? How do you know?
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I. Strategies may vary.

Possible response:
I estimated the answer to be about 200 because

both 97 and 86 are close to 100. 1713 is too big.

A.
|7
m a e

i

B. Yes, my answer is reasonable.
37 =40
56 = 60
100
93¢ is close to $1.00
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